X(tf)

X(tf)

X(tf)

200

150 A

100 A

50 4

— R
— FP
— BH

muO (RI)

200

150 A

100 A

50 4

—

100

200 300 400

K(0, 0) (RI - fructose)

500

200

150 A

100 A

50 4

[ ~

2 3

v(0, 0) (RI - fructose)

X(tf)

X(tf)

X(tf)

200 200
B C
150 4 150 4
_ = _
100 _\ % 100
50 -—\ 50
0 T T T T 0 T T T T
0 1 2 3 4 5 0 1 2 3 4 5
mul (FP) mu2 (BH)
200 200
E F
150 4 150 4
_ = _
100 % 100
50 A 50 A
,ﬁ /
0 T T T T 0 T T T T
100 200 300 400 500 100 200 300 400 500
K(1, 0) (FP - fructose) K(2, 0) (BH - fructose)
200 200
H I
150 4 150 4
_ = _
100 \ ) b
50 -\\ 50 1
e
0 T T T T 0 T T T T
0 1 2 3 4 5 0 1 2 3 4 5

v(0, 1) (FP - fructose)

v(0, 2) (BH - fructose)



